ZHS5

KIEm#hg AR @E TR ES ERS1EEFTE(E)
1T EA
(M)
&l =} N
FH%E & *
2 18 =}
1 AfEE |1 AEE |1 AfEE
41,095,000 KLY
2 #WBhE |1 WBhE [ wmEhE
0
4 FINA (1 FBUNA [1 A
1,000 FEE£FE
mASE 41,096,000
2 % H
(M)
# a FE% i® &
S 18 =}
1 S8E& 1 |8
6,000|ZESEGLY
1 EEHE
= 2 EXEE |1 EBE
103,000\ ESEEEHE
2 EEE |1 FEE [1 BE£%E | 40,986,000
Q@IS 1=T4N\ARE 28,801,000 M
GEITEREER] 28,382,000 M
(BT E (FLp#R) 18,752,000+ (E B #5) 15,539,000
FA-##B1£3,764,000M & & X A 2,145,000
[AZ2=FANRFDOMBEE] 419,000 M
(IS TLyk-NRIEBMBREZL)
QT IR —RE 12,185,000 [
GEfTEREEH] 11,915,000 [
GE{T#2#14,558,000M-%#B1%1,613,000H-EE XA
1,030,000M)
(FEFEEERERE] 270,000 M
3 FHEE (1 FEE 1 FHEE 1,000
A= 41,096,000




